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Féw (1-5) : Tifena Wanfem o Hive w1 fafir i
& AU Icdted (fuform &1 1) eoifan e 2 | s@en
e i 3R FeferRaa weA o s i :

Directions (1-5) : The following graph shows
the production of cement in Million Tonnes

during the various years. Study the same and
answer the following questions correctly :

Y T 3T
(Tfeem a7 )

Production of Cement

(In Million tonnes)

100

40

2009-10
2010-11
2011-12
2012-13
2013-14
2014-15
2015-16
2016-17
2017-18
2018-19
2019-20

1.  ©iHe o1 Tfehad 3caTe & gt 39 an
The maximum production of cement was
noted in the year :

(A) 2018-19 (B) 2013-14
(C) 2017-18 (D) 2014-15

2. 99 2011-12 % SR IATE gfg faerd
et s 6t qeT | o
The percentage increase in production
during 2011-12 over its previous year was :
(A) 37.5%
(B) 31.8%
(C) THH TS T8 / None of these
(D) 36%

3. 3cTed Afehdd Tt deh 39 99 92T ¢

The production fell down to the
maximum extent in the year :

(A) 2016-17 (B) 2012-13
(C) 2019-20 (D) 2015-16
GAMMA21
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4. 3cared § Tt 9 < g |
% G e gfg &8 |

The increase in production was
maximum during the year over
its previous year.

(A) 2014-15 (B) 2013-14

(C) 2018-19 (D) 2017-18

5. 9¥¥ 9 99 SH 3Ed ScdTeT A

The average production during the first
three years was :
(A) 48 MT
(C) 50MT

(B) 44 MT
(D) 46 MT

&t (6-10) : fem ™ U T IRg X % AT
12013 T 2019 % 4T HUS ¥9 H AT 8 |

a9TTe e fors o 3T w9l % SE |

Directions (6-10) : The following graph shows
the import of a certain commodity X in Crore
Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

A X hI AR 2000

Import of X —

g 1300

S 1200 1200

= 1 [

9 900

& 700

%
A = x 2= g
!
> > > > > 3
o o o o o o

6. X 3T AT | 3ereh JATT 3T X
3T TR & Y TR o TuI hT 3T
-
The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is
A) 1 B) 3
<€ 0 D) 2
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10.

TN 2018-19 SR X o 3T § Fasra
gfg @fi aui o X o ST o 38k HHa
T 2 7

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 70.6% (B) 50.9%
(C) 64.38% (D) 63.5%

¥ 2014-15 ¥ 2015-16 &% CH X
AT H g Wi & —
Percent increase in import of X from
2014-15 to 2015-16 is

(A) 28.8% (B) 43.0%
(C) 25.0% (D) 33.3%

T+t 3t & e o Q@ ay X & A 6
gig o1 3iHa (IR H) 8
Average of the increase in import of

X year by year for all the years is
(in X crore)

(A) 325
(B) 260
(©) 0 W IS T2l / None of these
(D) 280

forma fepam ot deh X =1 3114, X o 30Ed
AT B AP AT ?

For how many years, there was more
import of X, than the average import of

X ?
(A) 2 B) 4
) 1 (D) 3
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TS (11-15) : < 778 aforent /ARl 1 STYEH
I hl a1 = feu i & W e

Directions (11-15) : Study the table and

answer the given questions.
T arferent o =R =afed A, B, C 941 D 9=TE &
fafi= fedi magai A fh e §
In the following table four persons A, B, C and

D are selling items on different days of the
week.

A B C D

gmar/ Monday | 40 | 45 | 25 | 20

TR/ Tuesday | 35 | 50 | 48 | 26

AR/ Friday | 25 | 28 | 15 | 41

IR/ Saturday | 30 | 40 | 45 | 40

11, Fwarg o 9t =R i ® D awg i fosht

o1 | B 3% b1 fershl # fopae wferema <t
i 31 ?
Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is
(A) 183% B) 29.1%
(C) 283% (D) 19.5%
12. HHaR 1 o= T8 SEgan hl IfEd 3
IERAT <! St TS a3t <t 3Tied & Te
fepe ST R ?
What is the difference between the
average of items selling on Monday to
average items selling on Friday ?
(A) 5.25 (B) 10.5
(C) 6.45 (D) 7.40
GAMMA21
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TS (16-20) : & 71 arferent /Aol 61 LYES
T HL qUT o feu Ie i 6 WS

Directions (16-20) : Study the table and
answer the given questions.

WA | 2010-2017 o T BHAT T ScTCA

13. TIER I A gRI St 718 I%q qei Afar
I C g1 o=l T8 Iq ST STUTA AT AT ?

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 6:5 Production of Crops in India during
(B) 9:7 2010-2017
©) 8:7 (aqﬁ) / (In tonnes)
o/ | N§/ |=ae| Qe | wer /| S/ | gt/ | 3neg/
(D) 7:9 Year |Wheat| / / | Maize| Barley| Pulses | Potatoes
Rice | Bajra
2010-11| 6121| 874| 565 | 80 | 300 | 415| 210
14. FHAR S D GRI o= T8 9%, AT HI C 2011-12| 7010| 964| 655 | 60 | 312 | 417 | 220
gméaﬁnéaawﬁmmuﬁwmﬁ . 2012-13| 7112| 960| 780 | 55 | 210 | 680 | 222
2013-14| 7056 | 985| 1110 40 | 200 | 310 | 245
Items sold by D on Monday is what 2014-15| 6896| 716| 1160 90 | 216 | 370 | 315
) 2015-16| 6912 826| 1450 110 | 160 | 300 | 400
percent of item sold by C on Saturday ?
2016-17| 7617| 812| 1460| 75 | 216 | 260 | 445
(A) 44.44%
(B) 42.60% 16. 2016-17 % A& S0 & Fope %8 o ScqTE
7 Tt a9 6t gor & fivrae ot s
0
(C) 32.70% (A) =T B)
(D) 49.55% (C) 3T (D) <N

During 2016-17, which of the following
crops showed decrease in production in

15.

B, C AT D g shH3T: HHAR, AT qT
AT =Bl SI=ft 778 S 3T 1 SFd R ?
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A)
(B)
©)
(D)

46.66
44.33
45.90
42.50

GAMMA21

(C) Potatoes

comparison to the previous year ?
(A) Rice

(B) Barley
(D) Bajra

17.

Y T IcTET 2015-16 H 2010-11
FiersH fepaT on 8 7

The production of potatoes in 2015-16 is
approximately how many times that in
2010-11?

(A) 2.10

(B) 1.82

(C) 1.90

(D) 2.00
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18.

19.

20.

% seren 1 form o 3 A P e
U

Wheat production started showing a
slump during :
(A) 2014-15
(C) 2016-17

(B) 2013-14
(D) 2015-16

=0 4 fopH w8 | 2013-2017 & A&
ITE | AR g &t 1 TS 7
(A) T

(C) 4~

(B) Al
(D) St

Which of'the following crops showed the
continuous increase in production during
2013-2017 ?

(A) Pulses
(C) Bajra

(B) Maize
(D) Barley

2010-11  2016-17 i 31@fY o AL 37T
1 371Ed 3IcaTed fehaT B 7

(A) 353.96%
(B) 300.00
(C) 253.86

(D) 293.86

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?
(A) 353.96 tonnes

(B) 300.00 tonnes

(C) 253.86 tonnes

(D) 293.86 tonnes

21.

22.

23.

24.
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AT (8T8 § ga=idl i 9 2

(A) &Y % THT b Teh TG AChhR

(B) <igiw " o Ufkrg Tt

(C) T | B T

(D) < forshaTieer <ht @ <l Fenfra
U ATt g Tarfeheaen

In Indian History who was Dhanvantari ?

(A) A famous dramatist who lived

during the time of Harsha

A famous general of Chandragupta

Maurya

None of these

A noted physician who adorned the

court of Chandragupta Vikramaditya

frfearftaa forg svm o s 31T 2
[ a0

I. SR
L &TEm

In which order did the following come to
India ?
I Thomas Roe

(B)

©)
(D)

Ii. Fa-hien

III. Hiuen-Tsang

(A) IL I, I (B) L IIL III

(C) ML L II (D) II, I, III

st -3g-<ten fope I © SN & T
B3 A1 ?

(A) dTugan (B) FRR

(C) THHBETE (D) i
Siraj-ud-daula was defeated by British in
the battle of :

(A) Wandiwash (B) Buxar

(C) None of these (D) Plassey

T Y A geu A’ 1 et audes A1 2
(A) wre i (B) TS disted!
(C) AEfe™m (D) S sz
Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?
(A) Lord Minto

(B) Lord Wellesley

(C) Lord Hastings

(D) Lord Dalhousie

GAMMA21
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25. = 1 frema ot
a. eI A9 AT 1. ATCT geA
b. e uret 2. gUTSES 99
c. fomem 3. 2. e
d. &m & o 4. THEE=
Match the following :
a. Indian 1. Lala Hardayal
National Army
b. Ghadar Party 2. Subhash
Chandra Bose
c. Mitra Mela 3. V.D. Savarkar
d. Home Rule 4. Annie Besant
League
a b c d
(A) 3 4 1 2
B) 1 2 3 4
) 4 2 1 3
(D) 2 1 3 4
26. WRITEA IRd o faawor areft <sfear &
qEGH o -
(A) TEM (B) TS
(C) THABETE (D) BRIM
“Indica” which is an account of Mauryan
India was authored by
(A) Hiuen-Tsang (B) Megasthenes
(C) None of these (D) Fa-hien
27. TS HHISH fohd 9 WA § SH R TR ?
The Simon Commission first visited
India in the year
(A) 1919 (B) 1925
(C) 1928 (D) 1926
28. YR TP HE gir ford stfeasm o
UfceTiaes “qul WSS (YO TaAar) @
TETd Ut Tt T 2
(A) T (B) s
(O ERSICEE (D) ©MER
In which session, the Indian National
Congress passed the historic “Poorna
Swaraj”  (complete  independence)
resolution ?
(A) Karachi (B) Bombay
(C) Lucknow (D) Lahore
GAMMA21
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30.

31.

32.
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HISUE ToREE T YUH 91 F¢Ts fhe oy 6
TS ?

The Mt. Everest was first scaled in the
year

(A) 1955 (B) 1951

(C) 1958 (D) 1953

= 4 9 forua Age meft % Raerwa
JTTGIet 8 S[e @1 fatiy femam 2

(A) TrgErg el i

(B) WM 37egel THFRR @H
(C) 3T heTH JATSIS

(D) TSI &

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Mohammed Ali Jinnah

(B) Khan Abdul Ghaffar Khan

(C) Abul Kalam Azad

(D) Fazlul Haque

TTH Y DI HT ShIfAhRI TS HTehR ST
g T et o1 2

(A) 3T 9RA 0

(B) TreT Ut

(C) Tergem fdfectend waiféusH

(D) Frgeferd afirfa

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Abhinav Bharat Group

(B) Ghadar Party

(C) Hindustan Republican Association
(D) Anushilan Samiti

AT |FR sTe fope T W ] 7
(A) Tm (B) g
(C) el (D) F&T

The Nagarjunasagar Dam has been built
across the river
(A) Ganga
(C) Cauvery

(B) Godavari
(D) Krishna
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33.

34.

3s.

AL | feora veft s1vRmes /g 3emH
T g

(A) eI SHT TE ST

(B) HEIETg AMART

(C) YT THIRTY

(D) <X IR

The name of the bird sanctuary/national
park at Bharatpur is

(A) Keoladeo Ghana National Parks
(B) Bhensroadgarh Sanctuary

(C) Ghatprabha Sanctuary
(D) Darrah Sanctuary

reTE TETa G o g 3T9Eh BT Eld @
(A) 3t (B) Codll-Terga
(C) TsHgna (D) ohRal

The source of iron ore for Bhilai Steel
Plant is

(A) Umaria (B) Dalli-Rajhara
(C) Rajnandgaon (D) Korba

few U <t 3R 3% TIHI 1 B @1
14'&‘1?@%?

SIS 3TR e — 9] 3R el

2. SR A9 T 3R

b & - g
3. ymmer, i um

B N A
4. AT RS o — ffeen
(A) 334 (B) 132
(C) 1,23R3 (D) 233

Which of the following passes and
locations is/are wrongly matched ?

1. Zojilaand — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 3and4 (B) land2

(C) 1,2and3 (D) 2and3

36.

37.

38.

39.
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IR | 34 Shifdl o S o &9 § D
TR ?

(A) TH.TH. WHAYA

(B) SIS Hedl

(C) o wga

(D) €. g HiEA

Who is known as father of White
Revolution in India ?

(A) M.S. Swaminathan

(B) Balwant Rai Mehta

(C) Norman Edburg

(D) Dr. Verghese Kurian

fopeeh S@ o oy st faw 1 gfg
<61 3Aferes GTeHT BT 7

(A) T3 ISt IR ST wfed

(B) &N

(C) =HferTTa =

(D) I i

Private investment will be most likely
to be increased as a result of a rise in
(A) Expected yield on new capital
(B) The rate of interest

(C) Personal taxation
(D) The price of shares

AR Sl TFR AR HT Aot Hid dTel!
e 7

(A) T oo

(B) 3TR.¥1.3T%.

(C) hs HIREIhI T

(D) Hifa s

The agency estimating the National
Income of India is

(A) Ministry of Finance

(B) RBI

(C) Central Statistical Organization
(D) NITI Aayog

TT &5 1 GEU AT 1 8 ?
ONIREGIRES (B) T
(C) 5y (D) WfHeh

What is another name for the Service
Sector ?

(A) Secondary
(C) Agriculture

(B) Tertiary
(D) Primary

GAMMA21
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40.

41.

42.

A | 3T IR 1991 % SR et
HAY ?

(A) . gmEA fiig

(B) .t whrEiTa

(C) T 4 I el

(D) 37 et arstusht

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) Dr. Manmohan Singh

(B) P.V.Narsimha Rao

(C) None of these

(D) Atal Bihari Vajpayee

WA o |i99™ § 310 § 71 T gl o
Tfefera 72 8 2

(A) S

(B) gfe

(C) <ug ufsha afegan

(D) I 3R Saeer

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Prison

(B) Police

(C) Criminal Procedure Code

(D) Law and Order

frfaiaa o & Fa YR afaum i ge

feroryar i 8 2

(A) SIfeqEt w1 foaw

(B) el GEf wL=

(C) ToiRaa wfcem 7R wfera™ i watem

(D) wideg =Eds

Which one of the following is not a salient

feature of the Constitution of India ?

(A) Distribution of powers

(B) Quasi federal structure

(C) Written Constitution
Supremacy of the Constitution

(D) Committed judiciary

and

GAMMA21
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= § @ w®n R At o sl
=TI YGH HAT 8 7

(A) T Hifa & faeeres faga

(B) Hifetes SAfpR

(C) ¥ & i3 &

(D) wifetes wie

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

IR TI9H &1 DH T I8 T
TN ! UTH GGl o 3TRISH & fou
e 2

(A) ¥TWe44  (B) 3INT=Hq 38
(C) ¥T=We46 (D) IFT=q 40

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 44
(C) Article 46

Directive Principles of State Policy
Fundamental Rights

None of these

Fundamental Duties

(B) Article 38
(D) Article 40

F-ww TR U9 et # fER
Tere T@T o ?

(A) TIA HHIIA

(B) ScTed U Hedl T

(C) ¥ & i3 &

(D) 37T HEdl S

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
(B)
©)
(D)

Royal Commission

Balwant Rai Mehta Committee
None of these

Ashok Mehta Committee
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46.

47.

48.

49.

50.

hehasieh T 8 Bl 8

(A) (B) TE@IM
(C) <1 (3yw) (D) WYHE
Carcinogenic chemicals cause

(A) Cancer (B) Heartdiseases
(C) Asthma (D) Diabetes

I < U TdE FIT HEAT & 2
(A) = (3hE)

(B) 3iav=H (dersfy)

(C) Tafyre =t (wfsme sfifa)
(D) i (ufusfia)

Name the upper layer of the skin :

(A) Dermis (B) Endodermis
(C) Special Dermis (D) Epidermis
ferteft =1 wag @fche o s gIaT 3 2

(A) TEggaean A e W

(B) e =] g ™

(C) & =Ig dlecsl el gral

(D) fEm g™

Current flows in a circuit when

(A) The switch is either opened or closed.
(B) A switch is opened.

(C) There is no voltage.
(D) A switch is closed.

Tfeier A1 S.L SRS AT S 7
(A) diee (B) %S
(C) UERR (D) 3w

What is the S.I. Unit of resistance ?

(A) Volt (B) Faraday
(C) Ampere (D) Ohm

<A 1 e e 3 & fepwrehy TRty
% I BIAT & 2

(A) IeElcTeh 3T (B) HTS(eeh 370
(C) Wit 3 (D) UHifdH 3

Sour taste of lemon is due to the
presence of which of the following ?
(A) Oxalicacid (B) Citric acid
(C) Formicacid (D) Acetic acid

51.

52.

. 53.

54.
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Tsh STEX hl SHHET | 4% i a1k Jhg
it & g AT 35 T o
T g i STl 2 | < 3w | gl w1 Tfasra
1 7

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?

(A) 10.5 (B) 9.8

(C) 108 (D) 10

qﬁ (1+£j=(1+ijﬁhx$ﬂ=ﬂ?%:

169 13

If (1 +£] = (1 +i] , then the value
169 13

of x is :

(A) 5 B) 1

© 7 (D) 3

M%ﬁ@ﬁﬁﬁﬁ%%?
(A) 500
(B) 300
(C) Truffea 72 ot Thd
(D) 400

How many % ’s are there in 37% ?

(A) 500
(B) 300
(C) cannot be determined
(D) 400
36.1 9
102.4
19 29
A) — B) =—
(A) T (B) T
29 19
c) — D) =
©) 2 (D) -
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56.

57.

58.

59.

60.

13 9T w1 37d 68 B | U T h
374 63 B 3R Ra Trd =1 3fi|d 70 2,
1 ATa ST i B —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 73.5 (B) 47
(C) 94 (D) 65.5

QY 1 gY 3T AT T AT AT HETeR
ﬂﬁ%
(A) weraTaqul forr et

(B) g gHUE &M

(C) 3fua faota s

(D) Taer-Serent T

I3[ T T T I |

(A) FfgshR

(B) WEShR

(C) S shR

(D) ®fEshR

a9 denr = foem s = e ?
(A) T (B) i

(€) Fpfved (D) o
TeTded’ Rl TIIaT &

(A) T (B) TS

(C) foem (D) #eFTE
‘hicl § W g’ 9 o foqw i few o
[EETR R R R CACIED

(A) Foel

(B) <H

(C) heshrehivl

(D) Terehimt
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Directions : Read the passage carefully and
answer the corresponding questions : (61-63)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying

i to get to sleep but my fear made that

impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

61. The author sat peering into the darkness
because
(A) the window had looked like a plate
(B) he had put out the light.
(C) he was afraid.
(D) he wished to see the window.

62. The author jumped out of bed because
(A) acold breeze blew past his face.
(B) he heard a faint sound.
(C) he was pushed by someone.
(D) he saw someone coming towards
him.

63. Which one of the following did the
author do first ?
(A) Rolling himself into blankets.
(B) Closing the door.
(C) None of these
(D) Climbing into bed.

64. Give Antonym for the following word :

Keen
(A) Humble (B) Dull
(C) Eager (D) Alert

65. Give Synonym for the following word :
Pride
(A) Dignity
(C) Cowardice

(B) Humour
(D) Hate
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66.

67.

68.

69.

T JATGH!  Teh HIZeTl § %al, “qrerl Al
ufg 1 98 o8 g3 7 |7 98 uigen 3@
et & fopet yopR et B

(A) =i (B) T

(©) =& (D) et

A man said to a lady, “Your mother’s

husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Mother (B) Daughter

(C) Sister (D) Grand daughter
feu U foehedl H © HEUq w16g 1 W=
i -

sl it ;s ?

(A) TN (B) W

(©) zE D) T3

Select the related word from the given
alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Malaria (B) Plague

(C) Stings (D) Death

3 YIS o1 T SHITSTT ST G o sTehl Ireal
Y A T T |

(A) T (B) T (emaferft)
(C) ureh (D) IR

Choose the word which is least like the
other words in the group :

(A) Monk (B) Nun
(C) Priest (D) Knight
fereht fafoara e w1 # COMPUTRONE

! for@r S 8 PMOCTUENOR | 3&t
%< AT H ADVANTAGES &1 @1 feran

S ?

In a certain code
COMPUTRONE 1S written as
PMOCTUENOR. How is
ADVANTAGES written in that code ?
(A) AVDATASEGN

(B) SEGATNAVAD

(C) NAVDASEGAT

(D) AVDATNSEGA

language,

—-11 -

70.

71.

72.

73.
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T o TR H SATTEshal 9@ o 35e3d |

WRd | fohereh g HiaTsa T e AT

& TeRaT T 2

(A) N HATTT

(B) T T TR she A0l HATTd

(© AR

(D) & U

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) Ministry of Ayush

(B) Ministry of Health and Family
Welfare

(C) None of these

(D)

Ministry of Home Affairs
Ff¢ 18 HEA, 2005 I IMWHAR g, dl
18 ®a, 2007 i A &1 e g 2
(A) WAEAR (B) Iam
(C) gHaR (D) HHIR
If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Tuesday (B) Sunday
(C) Wednesday (D) Monday

R b 39 TH T o1 A 1 & o 317

Tuft Frenfer < e fiar geH fhan g 2
(A) TSI (B) oI
(C) HAeH (D) AT

Name the state of India which became
the first state to provide health insurance
for all its residents.
(A) Rajasthan
(C) Karnataka

IMENIME. 7 22 e, 2021 & fohg mam

T oI T IS ST ohtd T e o fean g ¢

(A) &Y (B) TGS

() THHABETE (D) fos

Which payment system has been barred

by RBI from issuing new cards from

22 July, 2021 ?

(A) Rupay (B) Mastercard

(C) None of these (D) Visa
GAMMA21
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s 2021 o o1 ford <@ o1 qrEre fova
H FeY yfwemel grEare i Al § qey
SR ?

(A) ¥rd (B) =4

(C) SmaH (D) A.TH.

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?
(A) India

(C) Japan

TRl JafafieE 2021 # fopgen! ARd
T o LIS —ATEeh o [oTU ATTH fohall TTIT 2
(A) CHZ @ (B) HiRI wAThSl
(C) safdg (D) W oFTee]
Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 20217

(A) Devendra Jhajharia

(B) Kashish Lakra

(C) Ajeet Singh

(D) Mariyappan Thangavelu

2021-22 % TR FR (JAE-THIR)
foTu e Ty @ i e e R R 2

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0 2021-22 ?

(A) 8.6% (B) 7.6%

(C) 9.6% (D) 6.6%

TRAT TA7 3 HIHR T 370 Teh BRI I
1 M Sictige S &% AT |/
W@z |

(A) <ifteRT aIgeRITT (B)  Uvadl T S=H
(C) Trmeem (D) T =ver

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress

(A) Deepika Padukone

(B) Aishwarya Rai Bachchan

(C) Vidya Balan

(D) Priyanka Chopra

(B) Russia
(D) U.S.

78.

79.

80.

81.

82.

-12 -
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=1 1 9 Tl o o1 “U=U ST I Y &
BRI CISITI R

(A) T (B) SMm™

(C) #fietemt (D) WEH

Which of the following countries is known
as the land of “Thunder Dragon” ?

(A) Nepal (B) Japan
(C) Srilanka (D) Bhutan
frame fora gor it T 2 2

(A) ¥HGI3WE  (B) HMER

(C) THIARETE (D) wrefeH
Riyadh is the capital of which country ?
(A) Saudi Arabia (B) Myanmar
(C) None of these (D) Bangladesh

aferTg faem @y 2021 1 g fhm
T e = Sftar 2

(A) TIABTITWH,(B) EL.UASF.
(C) .|, (D) 3.

Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) AIADMK (B) DMK

(C) PMK (D) BIP

Ifvaes wnifa FEeieh 2021 T I A1 <o
MR ?

(A) IEEATE  (B) STHTEH

(C) gt (D) sitetve

Global Peace Index 2021 topped by
which country ?
(A) Iceland
(C) Portugal
HH H TS TWeR 1 germEt
TR IRL0T AT <l AR FeharT & 2
(A) TferTg (B) TR
(C) foEr (D) 3TTY I
Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Tamil Nadu (B) Telangana
(C) Bihar (D) AndhraPradesh

(B) Denmark
(D) New Zealand

gfera

D
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83.

84.

8s.

86.

87.

FAYT =TT el a2 2
(A) TEEEH B) e
(C) famm (D) @&

The International Court of Justice is
located at

(A) Amsterdam (B) Geneva

(C) Vienna (D) The Hague
forea wfeg ‘wga!’ i @A s -
(A) 3nfesmd (B) TG H

(C) wemg# (D) WANCHH
The world famous ‘Khajuraho’ sculptures
are located in

(A) Odisha

(B) Gujarat

(C) Maharashtra

(D) Madhya Pradesh

&A% I 3y T wRa I A F B
TS Gl BT R ?

(A) TEH (B) Tafasn

(C) frem (D) T3

Which of the following is the smallest
state (in Area) of India ?

(A) Meghalaya (B) Sikkim

(C) Mizoram (D) Goa

TSI G o I §UHCE] b hIAhIcA feha
TYHIBAIE ?

(A) 6a8 (B) 2=d

(C) 8= (D) 48

What is the tenure of the elected
members of Rajya Sabha?

(A) 6 Years (B) 2 Years
(C) 8 Years (D) 4 Years
Torvar & vy Ty oo e TR ST R 2
(A) 277G (B) 20 3
(C) 30as (D) 24 IHR

When is the United Nations Day
celebrated across the world ?

(A) November 27 (B) October 20
(C) November 30 (D) October 24

13-

88.

89.

90.
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TRrg FehTar 3cHa 38 8 fhg U9 @
qEg R ?

(A) TSI (B) A

(C) 3iifesm (D) TR

The famous Nabakalebara festival
belongs to which of the following states?
(A) Rajasthan

(B) Kerala

(C) Odisha

(D) Bihar

ot 3 8 1 71 o e A R 7
(A) T SEHATHES

(B) oA

(C) FARFISIRIHTEA (CFC)

(D) TEgISH

Which of the following is not a green
house gas ?

(A)
(B)
(©)
(D)

S TR fopafore fag o 2

(A) T H 8T F Ich Yegid & fore
(B) IAmrdehTeti= feufa o fafire dan & forg
(C) Tafdrs wumst gansti & forw

(D) I # oitar s forg

Arjuna Award is given for

(A)
(B)
©)
(D)

Carbon dioxide

Methane
Chlorofluorocarbon (CFC)
Nitrogen

Outstanding performance in sports
Exceptional service in emergency
Exceptional social services

Bravery on battlefield
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e« Fr=ferRaa et eryEe ufew e 34

T 3NTRE F¥AT (91-95) % I T :

AT §U AT § 39 3R TR
farRroamd ey st @ 3R IR s qum o
TEhT STIETG TE & | HETeHT el = T § 98 45
fomr fopeft $sf-gw qen @F-wUs & e M
o7 | TiefiSht 38 T HEd o | 3 1 IR
e, enfifer stem qenm = IuAfRET
3T g1 TR o1 TS 3ok T 3T 2aER
H1 | 39 WA I hl TR TWH 6 T
ST A B foh g S o7 37id 398 < &
T o 3 Sl o @ wftfora 9, = 9 o &/
o1 T, TE AT AR &1 AT e Tueri 6 |
3% H1Y & T8 U guiRaE 3R wdaar S
T TN T AEeH o1 | Wdd WRd &
AT o 9 0 §H AT STl 3R eH-
FrRUeTaT 61 oY 33T R & | 89 A &l Gehd 1
34 &< < W U1 IEH A o+ T g1 A9
T T T Fhd 9 AT IS TTGT BT AR H
fen STan 1 g9 3He fowg ST 61 331 Hehdl
o 3R 31U T T deh Sh gl i Hehd
g |

91. iU § 7
(A) o4 & 3as
(B) &t &dl &1 31X
(C) Torelt oft et =t = T
(D) o T g T ST

92. U UMAT W {6 TN TWaadr Tum

ST ot ?

(A) I8 WAFAAT-UfRI T e o |

(B) IE HETCHT et & HesdgR 3N
HGTaUT o1 Ydileh T |

(C) zan guft Srfert, o, awt o A
T ot o |

(D) 3 fawg 3R geeH |fffcTd 5T |
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93, 3T TV H WYH TV’ Ireg T 37
3_
(A) TFHE I (B) ITH HH I
(C) @MHF (D) WHHIFE

F 94, IUIH TR T @ o T €Y U FART &

fep

(A) T[T <31 hi g ket off |

(B)  SATSITE! § shifcehrie <ht fereiy ofireht
oA |

(C) HETeHT Tieft % et | UG 3TSTeH
HaT o |

(D) ITSE o Tu¥ H FHWehi 1 &1
IS T |

95, I TIEITSN o TG oh1 e RIT AT 7
(A) 31T UST o QY FFmT |
(B) enfifeh SAETad 3R HESTEER I
3T &l |
(C) SHdTGEhdr & BT ST |
(D) YR Waaar |um s fomiwan
AT |

few : Fr=ferRaa et 1 erYEes few e 3|

TR ST T (96-100) 3 T AT -
faemar-traa 8 gfy o fauik 8 w3 |
3IGeh! BT 1 FAH T | 9 TG I
SRV 1 T €Y MR YA groifeht 4 Fq
Tue Tq sarve’ St sheud shi off | 3ht I8 FHeuAt
AT ShodT g1 off, Tegd wrenef oft oft wRiife wra-

o H S feramon % &9 # afed g ], 36 w1 Rl

& A GE R | T @A, 7S H IR o
19 B | 3@ H 3HE W, 3T Td ATuaHe
9 gi¥ o 3= %3l ¢ 7 3 T HAgdd 3
AHa-Hied | ATfEcIsil 3 3Hh ®I-Higd &

-14 - D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

Ui % foru fepam €t storeqal 1 faem feman 8 3t
30 Higd Ui | Tt 1 Srentia v % fore
3 HIeT Gieeal = Sreft # |

g 3 oft sH gHe 6 weEeT

1 ferer hid gT 3 Wi o1 frequr femam 2 |
] ST g8 | foam fopan St we IR
1 Ueh et T B 3UTH Toha1 <1 dehat 2 | o
bR I o Teh Jol H QY 37 I T AW I=
TTEaST SIdT 8, SehR &l JTdl & IHI TR -
IR o fafira sreat § @ afe +1E v e o
forTe ST 8 A &Rt g IR I W Al |
T &1 8T, T[C S8 ShIHel T AT 6 & TUe
B 9 ¥ I8 Tislien agF= T 3e%g 8
AT &, SAfh i T & Tohdll & | Th 3
foepd BM W AW IR fued 71, 98 HIeehatord
B 9T — 7% femmufig 2 |

IfG TeRe I o TS ol SGeTht 3T M
T AT Y11 SRR I3 3l Jadd FaTe Ud Saierd

&9 § foRamsiict ST S 9ehal & @ IRk foahd

3 % W W T3 T 37 et IR
LY U YT 1 Tal ST ST Hebell 7 e -
fafercaen = 39 GIRICIE! AN ol TR R
YT FR-R STeaE™ qUiEneT % 3R 3T-
TIRIYUT o &7 H Tohetd] ITH shl | 37T -0
%1 3299 ? Fop agsa dafy uw = o | 7T T
qTqe 8 o Aa-3E & el & 37m =i 3t
JehT Tk &1 shidl, 58 TR &2 forel o1 =6
34 wfeprd T gran | Wit 61 Th o | & Wh-at
T I STATETIH &, A SFT-TARI0 & &
S —TIeT0T 3TTE B | 3T bl 1o Tafehedeh
e, Ihd, 3d, HHS N T H TARTY
TheTATaeh L &l & | Jie-avad fafehearera

T nieass o Afaics TR & a: gt 37 &

T §F9E B TR 2 |

96.

97.

98.

99.

100.
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yea-ffheasnt g wWeR At T
SrRrearqut AT off

(A) 3T-JIRMY gRI IR I FE=T
M

Sfot IR o T 9T T T S
ey - Farferean &1 wewa Tenfua st
HHE-IRR ! I & S=M1

(B)
©)
(D)

Ieee § W TR vreg 1 i B
(A) 3 B) g«
(C) = (D) &Y

HT 1 GiE o1 @Y €9 HHET T & Hifh
(A) W Ik ST R |

(B) wHE-TA | Sl ufed gt B, € gfy
Hufd g g |

g Aa & faamar e gie R |
HE gy w1 fawii R |

(©)
(D)

ST Y <1 STETTRa 31Te Biell 8
(A) vea-Tafercas o

(B) WTf&cIehR |

(C) i |

(D) drfgcawme |

T IXR ! T el T 8 Rifh

(A) 79T T ST o fohd BH & IR
FAaq Misra g At g |
gfaffa g |

HHE AR forman <t gie 6 1o
FlA2 |

T YRR = =ht it Aravag= gran
2|

(B)

©)

(D)

D
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